HAYYUM U3OBPETATD
BYAYLIEE

MHCTPpYKUMA No c6opke



HAYYUM U3OBPETATb
BYAYLLUEE

NMepeyeHb peTtanen

HasBaHue petanu

MnacTtmHa 2x10

AOanTtep CMIoBOro

MOTOpa 25D nnocKum

3x5

Yron nnockum 90° 5x5

Yron nnocknm 135° 5x5

Yron (1_1)x5

Yron (2_3)x10

Yron (3_5)x10

Banka (1_2_1)x15

N306pakeHne

KonunyectBo (iT.)

HasBaHue getanu

OcHoBaHMe Kopnyca
(3_15_3)x10

BuHT M4x8

BUHT M4x16

Manka M4 dnaHueBadq

Manka M4 ctonopHas

LLlanba HemnoHoBasa

N306parkeHUue

TRIK

KonunyectBo (iT.)

12

10

22



::AV;II::;EM3OBPETATb TRIK




::AV;II::;EM3OBPETATb TRIK




::;;mh; EM3OBPETATb TRIK

M4x8 @
% =)
2x 4X 4x

== = = = = — — — —

O)O)@@@@@@@@@@
5 00)000800000000d

= = = = = = = = — — —

.)\‘\‘\\‘\\‘\\‘wvs‘
@00&3@@@@@@
0




::Ay;-lmh;EM3OBPETATb TRIK
4




::z:mh;EM3OBPETATb TRIK
5

2X 2X 2X




TRIK

HAYYUM U3OBPETATb

BYAYLLUEE




HAYYMM M3OEPETATb
BYAYLLEE

TRIK

oYE
00

= N *
=1
=
=
=1
=]
= - ]
> .
= - N
) -
= - N
= -
= . N
> -
= - 7]
= -
= - 7
> -
S

\?@
(]
S

S




::AV;II:‘D;EM3OBPETATb TRIK

% & S
Tx Ix 2X Tx

Y i o © , 2/
6/' G g




::AV;II:‘D;EM3OBPETATb TRIK

M4x16
S 8
2X Tx

y 0
@@@@w

0
0 (¢
49 @o

10



HAYYUM U3OBPETATD
BYAYLIEE

@ @ o trikset trikset.com support@trikset.com


https://trikset.com
mailto:support@trikset.com

